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QUESTION 1

A Hitachi NAS Platform customer needs to replicate their production file system which contains 750 million files with a
high change rate. Which technology should be used?

A. Snapshots

B. Cross Volume Link (CVL)

C. Shadowlmage

D. Incremental Data Replication (IDR)

Correct Answer: C

QUESTION 2

You are designing a Hitachi NAS Platform solution for a video streaming application over NFS version 3. The 1/O profile
is heavily read intensive. Which Hitachi NAS Platform feature would deliver optimum performance?

A. read cache

B. superflush

C. NFS acceleration

D. Transfer Primary Access

Correct Answer: A

QUESTION 3

A customer wants to implement a 2 PB Hitachi NAS Platform 3200 solution while using a Hitachi AMS2000 Family
storage system. Which two must be considered during the solution design phase? (Choose two.)

A. The 3200 supports a 2 PB Storage Pool size.

B. The largest RAID group size in a Hitachi AMS2000 Family is 38D+2P.
C. A minimum of 8 storage pools are required to achieve 2 PB.

D. The largest LUN size supported by a Hitachi AMS2000 Family is 60 TB.

Correct Answer: CD

QUESTION 4

You are creating a deployment plan for a new Hitachi NAS Platform customer that will meet their recovery and data
consolidation requirements for their NFS and CIFS data. Which two key infrastructure areas must you identify for the
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design? (Choose two.)

A. Recovery Point Objective
B. types of servers

C. Recovery Time Objective
D. number of NDS servers

Correct Answer: AC

QUESTION 5

Your customer is interested in using thin provisioning at the file system level and wants to know how the auto-expansion
function works on the Hitachi NAS Platform. Which two statements are true? (Choose two.)

A. A storage pool will automatically expand reaching the high watermark.

B. A thin file system will allocate space as needed until the maximum size is reached.

C. A thin file system will automatically expand to 10% beyond the high watermark.

D. A thin file system can be created with a larger maximum size than the storage pool size.

Correct Answer: BD
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